PM2013B - Guide Bar Bracket
Assembly

Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/pm2013b-guide-bar-bracket-assembly



https://jpw-catalog-qa-b2c-2.corevist.cloud/pm2013b-guide-bar-bracket-assembly

Description

Index
Number

10

11

12

13

14

15

16

17

18

21

22

23

24

25

Part Number

PM1800B-128-01

TS-1503021

TS-1504031

TS-2361081

PM1800B-128-05

PM1800B-128-06

PM1800B-128-07

PM1800B-128-08

PM1800B-128-09

PM1800B-128-10

TS-154010

PM1800B-128-12

TS-1522011

PM1800B-128-14

PM1800B-128-15

TS-2284082

PM1800B-128-17

PM1800B-128-18

PM2415B-162

TS-2361061

TS-1503021

PM1800B-128-24

PM1800B-128-25

Description

Socket Set Screw

Socket Head Cap Screw

Socket Head Cap Screw

Lock Washer

Cover

Fixed Pin

Gear

Fixed Plate

Guide Bracket

Worm Shaft

Hex Nut

Bushing

Socket Set Screw

Collar

Guide Bar Rack (long)
Phillips Pan Head Machine Screw
Guide Bar Rack (Short)
Guide Bar

Adjust Block

Lock Washer

Socket Head Cap Screw
DU Bearing

Fiber Washer

https://jpw-catalog-ga-b2c-2.corevist.cloud/pm2013b-guide-bar-bracket-assembly

Size

M7 x 10

M6x1x10

M8 x 1.25 x
16

M8

M16

M5x0.8x5

M4 x 0.7 x 8

M6

M6x1x10

DU10x 12

Qty

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/pm2013b-guide-bar-bracket-assembly

Additional Information

Stock Number

Products in this set

1791257B-9

https://jpw-catalog-ga-b2c-2.corevist.cloud/pm2013b-guide-bar-bracket-assembly

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/pm2013b-guide-bar-bracket-assembly

